
1 % van 33000 = 1 % van 3000 = 

1 % van 51000 = 1 % van 50000 = 

1 % van 8200 = 1 % van 536 = 

1 % van 518 = 1 % van 305 = 

1 % van 241 = 1 % van 994 = 

1 % van 72 = 1 % van 23 = 

1 % van 57 = 1 % van 85 = 

1 % van 17 = 1 % van 15 = 

1 % van 0,54 = 1 % van 27 = 

1 % van 9100 = 1 % van 75 = 

1 % van 66 = 1 % van 12 = 

1 % van 0,66 = 1 % van 75 = 

1 % van 99 = 1 % van 23 = 

1 % van 0,59 = 1 % van 0,24 = 

1 % van 0,55 = 1 % van 0,35 = 



1 % van 33000 = 330 1 % van 3000 = 30

1 % van 51000 = 510 1 % van 50000 = 500

1 % van 8200 = 82 1 % van 536 = 5,36

1 % van 518 = 5,18 1 % van 305 = 3,05

1 % van 241 = 2,41 1 % van 994 = 9,94

1 % van 72 = 0,72 1 % van 23 = 0,23

1 % van 57 = 0,57 1 % van 85 = 0,85

1 % van 17 = 0,17 1 % van 15 = 0,15

1 % van 0,54 = 0,0054 1 % van 27 = 0,27

1 % van 9100 = 91 1 % van 75 = 0,75

1 % van 66 = 0,66 1 % van 12 = 0,12

1 % van 0,66 = 0,0066 1 % van 75 = 0,75

1 % van 99 = 0,99 1 % van 23 = 0,23

1 % van 0,59 = 0,0059 1 % van 0,24 = 0,0024

1 % van 0,55 = 0,0055 1 % van 0,35 = 0,0035


